
Model

JEM

Year

2006

13.08.2007MG

Pos Part Number Name Qty Model

8

SG

07

Illustration

807-00

Restrictions

1K-5-600 001 >>

UPD

598

19:58

Remarks

ETKA

page: 001 EPIS 449

USA

bumper front

   1   1K0 805 903 C spoiler 1

  01/05      GRU primed

  (1)   1K0 805 903 B spoiler 1 PR-2JG

  06/05      9B9 satin black

   2   1K5 807 109 A impact beam
bumper
F             >> 1K-6-834 878* 1

  (2)   1K5 807 109 B impact beam
bumper
F 1K-6-834 879>>* 1

   3   1K0 807 183 guide piece left 1

  (3)   1K0 807 184 guide piece right 1

   4   1K0 807 217 A cover for bumper 1

  01/05      GRU primed 1

   5   1K5 807 248 foam insert 1

   6   1K0 807 285 A license plate bracket 1

  01/05      9B9 satin black

   7   1K0 807 717 B molding for bumper 1

  01/05      GRU primed left

  (7)   1K0 807 717 E molding for bumper
for vehicles with headlight
washer system

1

  01/05      GRU primed left

  (7)   1K0 807 718 B molding for bumper 1

  01/05      GRU primed right

  (7)   1K0 807 718 E molding for bumper
for vehicles with headlight
washer system

1

  01/05      GRU primed right

   8              see illustration: 955-30

   9   1K0 807 889 B guide piece
bumper

left 1

et_bt1.frm



Model

JEM

Year

2006

13.08.2007MG

Pos Part Number Name Qty Model

8

SG

07

Illustration

807-00

Restrictions

1K-5-600 001 >>

UPD

598

19:58

Remarks

ETKA

page: 002 EPIS 449

USA

Pos Part Number Name Qty ModelRemarks

  (9)   1K0 807 890 B guide piece
bumper

right 1

 (10)   1K0 853 665 E cooling air grill
for vehicles with
fog lamps

left 1

  01/05      9B9 satin black

 (10)   1K0 853 665 F cooling air grill left 1

  01/05      9B9 satin black

 (10)   1K0 853 665 R cooling air grill
for vehicles with
fog lamps

left 1 PR-2JG+VK2

  06/05-08/059B9 satin black

 (10)   1K0 854 661 M cooling air grill
for vehicles with
fog lamps

left 1 PR-2JG+VK2

  09/05      9B9 satin black

 (10)   1K0 853 665 S cooling air grill
for vehicles with
fog lamps

left 1 PR-2JG

  06/05      9B9 satin black

 (10)   1K0 853 666 E cooling air grill
for vehicles with
fog lamps

right 1

  01/05      9B9 satin black

 (10)   1K0 853 666 F cooling air grill right 1

  01/05      9B9 satin black

 (10)   1K0 853 666 N cooling air grill
for vehicles with
fog lamps

right 1 PR-2JG+VK2

  06/05-08/059B9 satin black

 (10)   1K0 854 662 F cooling air grill
for vehicles with
fog lamps

right 1 PR-2JG+VK2

  09/05      9B9 satin black

 (10)   1K0 853 666 P cooling air grill
for vehicles with
fog lamps

right 1 PR-2JG

  06/05      9B9 satin black

  10A   N   910 910 01 tapping screw 4X20-E 2

  11   1K0 853 677 C cooling air grill center 1

  01/05      9B9 satin black

 (11)   1K0 853 677 B cooling air grill center 1 PR-2JG

  06/05      9B9 satin black

  12   N   103 546 02 innensechsrund-blechschraube 5X16Z2 8

  13   N   902 184 03 rivetted cap nut AM6/0,5-4,7 4

 (13)   N   038 549 4 rivet 8X12 4

 (13) + N   013 964 9 tapping screw, fill. hd. ST4,2X16-C 2

  14   N   910 661 01 bolt, hex. hd. (combi.) M10X35-TC-S16 8

  15   N   908 259 01 innensechsrund-zyl-bundschr. M6X27 2

  16 + N   908 338 01 expanding nut 4,8 8

  17   N   909 591 01 speed nut 5X16,5X11 1

  18   N   909 699 02 innensechsrund-passschraube M6X25-W 6

  19   N   910 320 01 innensechsrund-blechschraube 5X24-R-L 1

  20   N   910 338 01 halbrundschraube (kombi) mit
innensechsrund

M6X22-S11 4

  21              see illustration: 853-00

 (22)   1K0 853 950 A end plate
F             >> 1K-6-665 390*

left front
1

PR-VK2

  22   1K0 853 950 C end plate
F             >> 1K-6-665 390*

right front
1

PR-VK2

et_bt2.frm



Model

JEM

Year

2006

13.08.2007MG

Pos Part Number Name Qty Model

8

SG

53

Illustration

853-00

Restrictions

1K-5-600 001 >>

UPD

598

19:57

Remarks

ETKA

page: 001 EPIS 449

USA

radiator grille

   1   1K0 807 243 decorative frame left 1

  01/05      2ZZ chrome

  (1)   1K0 807 244 decorative frame right 1

  01/05      2ZZ chrome

   2   1K0 823 753 plug
F             >> 1K-6-793 246*

1

   3   1K0 853 101 decorative frame center
lower

1

  01/05      2ZZ chrome 1

   4   1K5 853 653 A radiator grille 1

  01/05      9B9 satin black

  (4)   1K0 853 653 B radiator grille 'GLI'

  06/05      VW8 rally black/tornado red 1 BPY

   5   1K5 853 761 A decorative frame 1

  01/05      2ZZ chrome

   6   N   909 591 01 speed nut 5X16,5X11 2

   7   N   103 546 02 innensechsrund-blechschraube 5X16Z2 1

   8   1KM 898 653 repair kit for radiator grill
trim moldings

1

et_bt1.frm


	jetta_bumper_and_grille1.pdf
	jetta_bumper_and_grille.pdf

